= | =
JRARMIZDE K#{liEHER R4.3.2
SH4E28 : BAOHMEEEm) — Bt HEAL B AKMTISES
E =& A AN W B (mI-U- AP mmg)
S X E / * < v i =
(HFHLm) (g BH) [€EZTD)) (fBH) (7 8) (g BH)
QOB F|2F 2R E|2F2FE| 2% 2K — —
16cm~20cm | 22cm~28cm | 16cm~20cm | 22¢cm~28cm | 18cm~28cm | 18cm~28cm | i | 7¢ | &7 ® 5
X 3. Om X 4. Om X 3. Om X 4. Om X 3. Om X 4. 0m |*&|17|E !
” 15,800 19,140 9,000 10,000
% H 800 1,160 0 1,000 #|R| B
15,000 15,000 30,000 25,000 -
iﬁ' x 1,000 1000 0 0 ®RIR|B|FZITER,
15,000 17,000 28,000 24,000 RIR|T = ,
. : : : T2 i, X a.e/
E/ XTSI Ea NI EERELCRY., B4
2 AN 15,000 16,000 30,000 25,000 RIR | 5 | mosi=a0sEE@0, 253 2R EBLT
0 o] -2000 0 5(3|" |z,
= 5 17,000 15,000 26,000 26,000
_ 1,000 2,000 -2,000 0
> 15,500 16,500 30,000 33,000 RIR| = — s
= B 0 0 0 0 2 |2k [ | B EREDTIR,
15,000 13,000 32,000 26,000 o L
: : : 2 REMLIFE,
i 1.000 0 0 500 RIR|B|RAENELETFE
= 15,000 17,000 23,000 24,000 RIR|T I:/#(%%‘:‘ﬁ’:?ﬁ“@]b‘@b‘f:bﬂ'ﬁ?b“
= 1,000 0 -2.000 -2.000 B|B|R|Y, RFXIZBIT,
BE 18,000 17,000 25,500 24,500 = > PN o
& CERIEER G PZS g./ 55 °
N 0 1000 = 5 B|5B|A|R¥EE *EBEH
_— 18,120 17,660 22,000 22,720 R =
= 1720 1010 0 1,780 3|
& = 15,942 16,330 27,389 25,580 9,000 10,000
= A 652 617 =722 -476 0 1,000

GENLERO#FIIERB QEARMIE, FTERIEAFIRFAEMIEENE, MBDTYHREIMIL, R3.7A LDMEE,
2. BT DA, BT A&
SH17E48 &Y. 1 D16cm~20cm, FEE22cm~28cmIZENEER
A{ER& . £ITHIE. 3B, R5B. R, FR. BROSELFEHEE. B.B. FRO3RS




	原木

